

Goodrich Pilot Training Center

Breakdown of Costs

Costs by Rating

PRIVATE PILOT

60 hrs of flight time (172)	\$ 8520	FAA medical exam	\$ 150
20 hrs dual instruction time	\$ 1000	FAA written exam	\$ 200
20 hrs ground instruction	\$ 1000	FAA checkride w. instructor	\$ 600
Books & materials	\$ 600	TOTAL	\$ 12,070

INSTRUMENT RATING

Training	Time	Rate	Total
Flight Time	70 hrs	\$ 150	\$ 10,500
Instruction	95 hrs	\$ 50	\$ 4,750
Materials			\$ 750
Tests			\$ 1,000
TOTAL			\$ 17,000
Time Building	55 hrs	\$ 150	\$ 8,250



FOR PROFESSIONAL PILOTS:

COMMERCIAL RATING

Training	Time	Rate	Total
Flight Time (C172)	25 hrs	\$ 150	\$ 3,750
Flight Time (M20J)	20 hrs	\$ 185	\$ 3,700
Instruction	55 hrs	\$ 50	\$ 2,750
Materials			\$ 750
Club Dues	6 hrs	\$100	\$ 600
Tests			\$ 1,000
TOTAL			\$ 12,550

CERTIFIED FLIGHT INSTRUCTOR

Training	Time	Rate	Total
Flight Time	30 hrs	\$ 150	\$ 4,500
Instruction	45 hrs	\$ 50	\$ 2,550
Materials			\$ 500
Tests			\$ 1,000
TOTAL			\$ 8,250

CERTIFIED FLIGHT INSTRUCTOR INSTRUMENT

Training	Time	Rate	Total
Flight Time	10 hrs	\$ 150	\$ 1,500
Instruction	30 hrs	\$ 50	\$ 1,500
Materials			\$ 500
Tests			\$ 4,500
TOTAL			\$ 17,000

PROGRAM TOTAL	\$ 67,850
Administrative Fee	\$ 300
Total Hours	290



Our Hourly Rates

Cessna 172	\$ 142	Mooney 201	\$ 185
Ground Instruction	\$ 50		

Payment Plans



Pay as you fly

- Best for intermittent fliers
- Accepts Visa & Mastercard



Pre-pay to draw-down account

- Offers bonus
- Best for committed fliers
- Accepts cash & check

Pre-pay Account Bonus

You Pay	We Pay
\$ 500 - 999	2.5%
\$ 1000 +	5%

*Bonus applies only to money on account; withdrawn money will not include bonus



Pilot Financing

If you're ready to be a pilot, but aren't sure how to pay for it, our partner Stratus Financial can help! Stratus offers student loans for aspiring professional pilots.



About Stratus

Stratus Financial was founded by FAA Certified Flight and Ground Instructors passionate about helping others achieve their aviation dreams. We know it's not just about achieving your dreams (because we looked up in the sky every time, we heard an airplane too!), but funding your family's dreams as well. That's why Stratus was created, because with Stratus, the sky is no longer the limit.

Contact Stratus to hear your personalized offer.

Phone: (855) 301-3335

Email: lending@stratus.finance

Read More on Our Financial Aid Page

